EARAROBEEIERT — 2 N— IBISH —F

2012458318 (k) 3EIFIRI4H

IV EEE 5% 3KELEOP (RE] % | [Ewml — | & (@) 2000 &
=B
[A&4] 1 7 :2,000,000  ~ 2 3 :400,000 M 33 :300,000 .~ 4 3#:200,000 ™ . 5 37 :100,000 M
B\ ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
TN AR 2:09. -1-1- X — =R (eimE
ilylq]7o%>a 5 | ZtE s R A T
R:05%>04— B:I5 v ML BRYSG
o = #o8 | RESESE 2:09.8 4-422 |37.8| — | 2 | 484 |EHES (Limd)
ol7|7|¥a—FEl7Ta2— 57.0 A 1/2) (+4) | LR .
L:7A7% B:Ya-—-twsLal-— Hd Bz
N N HERE : -8-8- - L (dtimE)
3 4l aoNENTA SRS (21'110/2]) 5o80 976 1 fg PRER .
L:TUHA XTI R BFLrIZRRI v A HE
N - EBEZ : 50— — NEFE (dLiEE)
4lglolEa—T1—V3 it 4 2 2.(110).3 5-5-2-2 | 38.3 7 ;1_7:) /E\EEIEEL il
R:T— RAMO— B:ARXFTTSAF HifE I
= 3 o~ INHRIEEE -10. PPN . _ EHA (e
5055 | TATT TN 4 5 o 2(710t§ 6-6-6-6 | 38.0 5 (4+566) )a;”ﬁ«: Bl
R:xA1=T7—2 BTVVIEL ballikse]
= Yt # o9 | ELARER 2:10.7 2-32-2 [38.7| — | 6 | 498 |EARHE (tiEE)
EE o | ANy 57.0 (11/2) 4o) | EARHEL a
R:TSAT7> X80 B:nNOxyt IS Eve ]
s . FETS : ~6-5- - fREFERI (iEE)
71718 Jx¥—Ha K 6 56.0 = 2('31/%8 6605 | 38.6 ! ;‘_666) %%{;‘Iﬂ o
LR T b A= —FK—F BHA RNCHA R =¥ Ty — L
. AZF—1gt : -10-9- — ZEHN (tEE)
glgliolVa—-Lurk # 8 2 2.(131).5 10-10-9-8 | 38.8 8 <5+166) ;%Im Bl
L:pAM—Y—X B:x39>>4%3Y HE BA
L e = R . 06— _ F (B
9 6l T—FIWEZT 1 — # 8 si'glﬂ‘gl)f x 2.(121).9 2-2-68 | 39.5 9 | 462 EE% (=50
R:TAVHLRR BZATYLTTT« (=7 EHF BB
=554 BRI 13, -8-10~ 8| = HsE (EH)
10 3| AF S5 H1 R 4 8 s 2(183)5 8-8-10-10 | 40.3 10 :?j) Ez(%&
R:7TF X BURNTEAR BHER
® 1—F—@EBIERL
13—+— |1,(2,6),7,9,(58),(3,4),10
230—5+— |[1,6,2,7,9,(5,8),(3,4),10
Jol=5r= 1,(2,7,9).,8,(5,6),4,10,3
AT =5F= 1,(2,7,9),8,(4,5),(6,10),3
[ /N
B 1 5009 % & 1-7 490M 3EE 1-4-7 360
B B 1 140M B & 1-7 740M EH 1-7-4 2,680
7 110 B E 1-7 1,300
4 1209

ABICOVWTRDTEEERROODE. TR LIV,




